
Note	Regarding	the	following	KEYS	for	the	game	cards:

Following	are	two	keys.		The	first	key	is	for	a	quick	answer	guide.		I	like	to	have	a	few	
of	them	sitting	around	the	room	for	the	students	to	check	if	they	should	have	a	
disagreement	on	an	answer.		I	do	not	give	each	group	the	key.		Or	you	could	just	
have	one	copy	with	you	as	you	monitor	the	class	for	reference.		I	put	the	quick	
answer	sheet	in	sheet	protectors,	and	when	a	group	has	finished	their	game,	they	
can	check	their	answers.

Be	sure	to	have	students	label	each	problem	on	their	answer	sheet	either	“C”	for	
conversion	or	“M”	for	mole	and	then	the	card	number.		For	example:	in	the	box	at	
the	top	left	corner	of	each	answer	sheet	box,	students	may	write	C-14	for	
conversion	card	#14.

Following	the	quick	answer	guide,	you	will	find	five	pages	of	complete	keys	with	all	
problems	completely	worked	out.		

A	note	here:		I	have	my	students	use	molar	mass	to	the	hundredths	place.		So,	
copper,	for	example,	will	be	63.55	g/mol.		Or,	NaCl will	be	58.44	g/mol.		This	will	
make	a	difference	in	answers	if	you	have	your	students	round	to	the	nearest	ones	
place.

Also,	all	answers	are	in	correct	sig	figs.		So	unless	you	also	require	your	students	to	
record	answers	in	correct	sig	figs,	this	will	also	make	a	difference	in	the	answers.		
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Key:		Conversion—Stoichiometry	Edition
Quick	Check	Answers

Conversion	Cards

1) 12.2	g	Zn
2) 22.36	g	CaO
3) 9.7	mol	Zn
4) 1570	g	CaC2
5) 648	g	Ca(OH)2
6) 130	L	O2
7) 1.51	mol	H2
8) 8.40	g	H2O
9) 54.2	mol	NO
10) 340	g	Fe2O3
11) 40.0	mol	LiOH
12) 151	g	MgO
13) 16	L	HCl @	STP
14) 10.1n	mol	HgO
15) 340	g	HCl
16) 96.4	g	NH4NO3
17) 2.3	mol	PbI2
18) 786	L	O2 @	STP
19) 19.3	g	Cu
20) 1700	g	AgCl
21) 9.99	x	1023 molecules	NH3
22) 3.4	g	CaCO3
23) 7.05	x	1024 molecules	CO
24) 61.8	L	O2 @	STP
25) 64.6	L	N2 @	STP
26) 108	g	Fe2O3
27) 19.4	g	C12H22O11
28) 0.835	mol	Li
29) 1.02	x	1025 molecules	HF
30) 129	g	HCl

Mole	Cards

1) limiting	reagent	=	CaCO3
2) limiting	reagent	=	HF
3) limiting	reagent	=	H2
4) ZnS completely	used	up	(limiting	reagent)
5) 14.6	g	CuO
6) 247	g	Ni	left	over
7) 14	g	Cu
8) 18.8	g	SO2
9) 87.8	%
10) 88	%
11) 81.4	%
12) 81.3	%
13) 1.82	g	N2O5
14) limiting	reagent	=	NH3
15) 3.40	mol	NO
16) 7.0	g	HNO3 left	over
17) 63.5	g	Cu(NO3)2
18) 87.1	%	yield
19) 590	g	I2
20) 82	g	Br2 in	excess
21) 102	%
22) 86	%
23) 98	%
24) 6.63	x	1023 molecules	H2O
25) 88.0	%
26) 53.6	%
27) 60.9	%
28) 12.2	mL	O2
29) 4.7	mol	H3PO4 left	over
30) 76.4	%
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Conversion	Key	(cards	1-14)
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Conversion	Key	(cards	15-30)
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Mole	Key	(cards	1-12)
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Mole	Key	(cards	13-24)
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Mole	Key	(cards	25-30)
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